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CBT Sample assessment model answers

Introduction to Payroll (INPY)
Sample assessment 1



Task 1 (8 marks)
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Task 1, continued 
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Task 2 (4 marks)
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 Task 3 (5 marks)
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Task 5 (5 marks)
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Task 6 (20 marks)
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Task 6, continued 
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Task 7 (4 marks)
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Task 8 (16 marks)
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(a) Determine whether each of the following statements is true or false. (2 marks)

‘The monthiy salaried payroll would be called a negative payroll [frue

Monthy salaried employees must always provide imeshests before they can be paid. __ [False il
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(b) Which ONE of the following statements best describes the action a Payroll department
‘should take to achieve this? (2 marks)

Payroll staff should wait for instructions from the appropriate goverment depariment.

Payroll staff should regularly check for new guidance from the appropriate government depariment.

Payroll staff can rely on their software provider to keep them updated.
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(c) Which ONE of the following statements describes how payroll should protect
computerised data?

Computers used to access payroll data should always be password protected.

Computers used to access payroll data do not require:
‘2 password as long as they are keptin a locked room.

(2 marks)

‘Computers usedto access payroll data do not require a password
25 long as an audittrail of the computers use is required.
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(d) Identify, in each of the following circumstances, f there is a data security risk or not.

Yes, No,

Circumstance thereisadata there s no data
securityrisk  security risk

An employes starter formis left unattended in an open,
shared office.

An employes's new job file is discussed in a meeting
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(a) Complete the following statement by selecting ONE of the options. (2 marks)

Aworman taking materniy leave may be entitied to payment of SHP if her average eamings

[eaual or exceed he lower earnings fimitin the quaiiying week Rl
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(b) Complete the following sentence by entering the correct figure in the box below.
Your answer should be in whole numbers only. (2 marks)

‘The maximum number of weeks SSP can be paid in a single period, or a series of inked

periods of absence due to sickness, is [28
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(a) Which ONE of the suffx letters, L, M or T, would apply in each of the following situations? (3 marks)

An employee bor after 5 April 1938 who is entified o the
‘standard, taxfree personal allowance.

An employee whose tax code is under review.

An employee has received the transferable personal
allowance from their spouse or civil partner.
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{b) Which ONE of the following National Insurance categories is correct for the.
circumstances for this employee? (2 marks)
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(a) Complete the following statement by selecting ONE option. (1 mark)

NINOS are ssued generaly o evrypersn g in e UK shotybeore e age of
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(b) Determine if the following statement s true or false. (1 mark)

Ifyou are unable to locate an employee’s NINO,
HM Revenue & Customs will give the number to you over the telephone. [Faise 5l
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() Complete the following statement by selecting ONE option. (2 marks)

one ofth purposes e NI o csntty e ermploes’s ettt coram s bones. [l
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(d) From the following list, identify TWO possible ways that may avoid payments being made
to employees after their leave date. (4 marks)

paym

Restrictthe employee taking holiday leave unil after it has been accrued by the
employee

Pay overtime a month before it has been worked.

Pay salary in arrears and notin advance to employees.

sk employees when they will be leaving as soon as they begin employment.





image14.tmp
(a) Identify who or what must authorise the following changes. (4 marks)

Anewtax code for an employee: [FlRC %]
New bank account details for an employee:  [The employee %]





image15.tmp
(b) Identify whether the following statement s true or false. (1 mark)

Payroll needs to know what the authorising levels are for managers within he organisation. [True [l
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(a) Using the information above, calculate James's gross pay for the month, identify the
necessary deductions, and show the resulting net payment to be made.

marks

— Amount Totas
Salary 2000
Bonus 500
Total pay 2600
Income tax 350
Nafional Insurance confribution 260
Pension confribution 120
Total deductions 780)
Netpay 1,840
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(b) Anemployee earns £10 an hour. When calculating the cost of overtime for 10 hours at
time and a half, which ONE of the following methods of calculation provides the correct
figure to pay the employee? (@ marks)
() 10 hours x 1% = 15 hours x £10 an hour
(i) £10:an hourx 1% =£15 an hour x 10 hours

@)only.

(i only

Botn (i) and (i)
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{c) Indicate whether the following statement is true or false. (2 marks)

National Insurance contributions can only be deducted
ifthe employes has given express writien authorty or the deduction N - |





image19.tmp
(a) Select which ONE of the following options describes the date by which a payment
cheque sent in the post must reach HMRC bank account. (@ marks)

By 22nd ofthe month

By 19th of the month

By the last day of the month
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(b) Indicate if the following statements are true or false. (@ marks)

There is no legal rightto have wages paid in a particular way. T v |

By law all employees must be paid atthe end of the montn Faise
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(a) Inthe following list, identify if the items of information would be necessary or not for an
‘employer who supplies electronic paysips to its employees. @marks

Employes name [Vouid be necessary %]
Employes home address: [Wouia notbe necessary %]
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(b) Using the information given in the popup window below, enter the missing items to
‘complete the pay advice for the employee. (14 marks)
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Tax and NI information

Name Kerry Smith NI number SR v

Fayol D 001587| T3 code 050l
NIC category A

Pay informatio Deduction informatio

Basic salary 2,000 0o|Ineome tax 25000)

Overtime 186.00[NIC 182.00|
Charitable giving 50.00)

Gross pay 2186.00 | Total deductions 482.00)
Net pay 1704.00|
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